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# Edutips
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MATHEMATICS

Category -1 (Q. 1 to 50) . )
(Carry 1 mark each. Only On:yopti(o?l is correct. Negative mark: - %)

OREHO

b

24—
1 I f(x}={x i i

y xeR, i ifferentiable, then
- > is everywhere differe

2
R f(x)={; :;x”’xﬁl, xeR sl wde sl 28, O
)4 3

x>

(A) a=3,b=5 ®) a=0
(C) a=0,b=3 (D) a=b

: = d a local "
2. Let p(x) be a real polynomial of least degree which has a local maximum at x = 1 an
minimum at x = 3. If p(1) = 6 and p(3) = 2, then p'(0) 1s equal to

T IR p(x) G I 6 Faow o AR T1Y G0 ZWE 539 W x = 1-09 QAR G T
S T x = 3-0% WIE | 77 p(1) = 6 9% p(3) = 2 T, TR p'(0)-47 M3 2

(A) 8 (B) 9
© 3 (D) 6

3. The function f(x)=2x" ~3x" -12x+4, xeR has

(A) two points of local maximum. (B) two points of local minimum.
(C) onc local maximum and one local minimum. (D) neither maximum nor minimum.

f(x)=2x=3x" -12x+4, e R, SCAHH0I

(A) ¥ RS FAW 53N WH SR
(B) 7 fZrs gAm wIW WA Wl
(C) &aﬁﬁ%ﬂﬁiﬂmmeaﬁﬁ"{t@ﬁﬂwmml

(D) R 528 4 T IH G|

4. Let 8(x) = f(x)+ f(2a-x),x€[0,2a] and [*(X)>0 forall x&[0,a]. Then ¢(x) s

(A) increasing on [0, a). (B) decreasing on [0, a).
(C) increasing on [0, 2a]. (D) decreasing on {0, 2a].
a1 b(x)= f(x)+ [(2a-x),x€[0,2] TR [7x)>0 QR x[0,a] 1 wrE d(x) ==
(A) FHEAR (0, a) (B) FWZETMA [0, q) |
(C) TR (0, 2a] (D) TR [0, 24
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(eW) =(sinﬁ) , then

8 If g(f(.tﬂzlsimi and S/

2
@ g/ () =binxd &R 5 (g(x))=(sin~/;) =, 5@

&) f(x)=sin’x 8=V B) f(x)=sinx, g(x) =]
© fx)=+ g(x)=sinVx D) f(x)=, g(x)=sinx

6. The expression 2" — 15n - 1, where neN (the set of natural numbers) is divisible by

24— 15n - 1 A% RO 2@ (neN, FreiFE WA o) —

(A) 125 (B) 225
(C) 325 (D) 425
7. Ifz,,

2z
Z,are complex numbe h - . .
2 P rs such that 2, isapurely imaginary number, then the value of

21— 2
ZI +22

1S

% 2, 2, 45 wfbat e 9w T @ 22‘ Wmmﬁamwnw

-}
‘ (D) 4
(=] ¥
8. The value of the integral I @%; \/_ dx is .
X
6
| 4t
|
(A) s 3
. (B) 5
(D) 1
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9, The line y— J3x+3=0 cuts the Parabola y2 = at the points P and 0.

x+2

If the c’o-o;dinate's' _of
ths patnb:3 2es (\E’ 0) , then the value of XP-XQis |

y—3x+3 =0 TR 2 = x + 2 ke p Qﬁmcﬁmmﬁxﬁﬂwﬁ (‘/5’0)

=, OIRE XP- X099 W9 [
2++3 -3 >
A) 4 3 ) ® 4(22 ) EeeE
5(2+4) 5(2-3) El%

© 5 ®

10. Let f(x)=[1—2x, then
(A) f(x) is continuous but not differentiable at x=

(B) f(x) is differentiable but not continuous at x=—.

1
(C) f(x) is both continuous and differentiable at x = re
. e
(D) f(x) is neither differentiable nor continuous at x = oY

WM f(x)=1-24 T, O&
1
(A) f(x) TS g SRR TR x =7 R

1 ,
(B) f(x) Sy g wpTe® x=— e
1

(©) f(x) 7T & SRFREIY x = RS j e
D) f(x) STVS 8 SKIHI TR x=%ﬁiﬁ %
[=]

- [ ] ! = 1
11. If '’ is the inverse function of ‘g’ and g (x) 147 * then the value of f'(x)is

: 1
g ST RoAf Srom of WAk g'(x)=— ,
T g’ [ELEIS) 4 ) 11 O A B —

@A) 1+{f (=)}’ S @ I-{r(yy
© {1+ @) {(x)"

E GETIT ON
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(0 : ‘; .« orthogonel, then the values of a, b, ¢ are
by .
matrix
12, If the g € €

|2 b D
g 8
1 1
| =+.._1-— :i—-l—' b:i-——-,C:i_
@ a=t b=t o=t B) “== 5 6 3
] 1 1 1 1 J
_-""—,b= Ty eET = =—_:b=-—_’ A
5 5aa a
13 Let 4=\0 o Sa|.If |4" =25, then |o] equals to
0 0 5
5 Sa a _
AR 4=10 o So| 130 |4l <25 77, O |of T
0 0 5
@) 5 ®) 1
1
C) -
© 3 . M) 5

~ 14. A function S :R5R, satisfieg f [_’:'__";,}’_J___ fx)+f WM+ f (0)
3 3——-—-——--forall x,yeR.

I:' Au‘.‘i)ae:uflmct:icm " is differentiab]e x =0, then fis
near ’
(©) cubic (B) quadratic

o | (D) biquadratic
ROR 0 et oy f(f_;r_z) _S@+ D)+ £0)
R wrezmermzgog X, Ol £z .

© = | - ®) fure
' | . D) Fefemre

Q GG TS aq2 FerarIol WoTEs - EduTips 9 GRBWEAIG Fese!
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15. L"‘fbe"‘f“n"ﬁ‘mWhi‘:hiSdifferenﬁablefmaumalx_Iff(z)=«4and f(x)zﬁfm‘allxﬁm } |

then

47l AT, x-47 S A WHE G f eroomaly syaeemraien | T f(2
X3 B GRG0 f'(x) 26 T, OEL=

(A) f(4) <8 ®) fid) 212

©) fH=8 (D) f(4) <12

) = -4 a2z 2, 4] A

16. If £ and F arc two independent events with P(7) = 03 and P(EU F) =05, then P(E/F) - PUPIED

cquals
MM Eam F b 7l €5 58 (o AE) = 03 @3 PEUF) =05, F0F PLEIF) - P(FIE)-3
A A
2 3
- By —
(A) = (B) 35
C - (D) 2
© 2 7

17. The set of points of discontinuity of the function f(x) = x - [x], xe R is

f(x)=x~-[x), xeR mwﬁmwﬁ?ﬂmfmﬁﬂ B &)
A) Q (B) R P I
(C) N Dy Z %‘J:%%

18. For what value of ‘a’, the sum of the squares of the roots of
the equatio
n .2

will have the least value? x “‘("1*2}x--a+;&0
‘a'~G3 @ WS &, x* —(a-2)x-a+1=0 ﬂﬁﬂm%ﬂﬁa

(A) 2 ®) o %ﬂm"ﬁ'—?mv

(C) 3 D) 1 |
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1 3.
x +wt! 2 isequal tO
R ey
j_{s_f_‘*if_l—dﬁﬂa WA 2@
_lxz +2|)J+1
(A) log2 (B) 2log?2
0
1 (D) 4log2 [=]5e
(©) ElogZ EE&E
(=] v

20. If 7 b. & are non-coplanar vectors and A is a real number then the vectors

442D +3¢, Ab +4¢ and (2A —1) arc non-coplanar for
(A) no value of A. (B) all except one value of A.
(C) all except two values of A. (D) all values of A.

I 4 5, ¢ foid SPea (S3F T G A I AT WA, O a+2b +38, Ab +4F O
(20 -1)¢ SFTeaT TR

(A) AR I MR & | B) 93T YOS A7 HFe| WAT & |
(C) 1ib TO® A7 e A= & | (D) A2 3341 T & |

21. Let @(#1) be acubic root of unity. Then the minimum value of the set { la +bw+ C(Dziz -a.b.c are

distinct non-zero integers} equals

HIF o(=1) GRS To3ye] | O {Ia+bm+cmzlz

- ;¢ TGS oifrigat g7 RE TAD
(A) 15
®) 5 e
© 3 o Efr"‘ﬂ%
(=]
15
22. [[x*lax is equal to
0
1S
3 I["z]dxﬂmmqs{
0
A) 2. . |
© 2443 | - ® 2-V2

D) V2
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93, If the sum of ‘n’ terms of an A.P. is 3n? + 5y, and jts mth term 18 164, then the yalue of m 1§ o
-qﬁ ‘ﬂqﬁ HAAEH \‘-’l‘iﬂ%ﬁ ‘n’ MYFT AMI R)\Br | 3?12 +5n qugm m-oq ﬂﬁm 164 24, \GIK m-4a9 q=
LSl
(A) 26 ®) 27
(©) 28 D) 29
y 2
1 d°y
24. If x= dt and ——-:ay,th ; E]
i x= | a (=] 7%
L= dt @R =ay ¥, 9] a9 WA 25
oN1+9¢2 dx® 2
) 3 ®) 6
©9 ) 1

25. If P, +5-°P, = '°P,, then the value of 7’ is

M OB, +5-°P, = "', O P WA
®) 8

(A) 4
D) 7

© 5

26. 1f 0’ is the angle betweentwo vectors & and b suchthat |d|=7, lEl:l andlaxglz _ 2 _(5‘5)2
?

then the values of k and O are

o (o8 G ) b WS ol 0T &R [a=7, =1, |ax| = 1* (@ 5) =m, wrm

k'€ 0-49 S A
(A) k=1,0=45° B) k=7, 0 =60° Y

(C) k=49,8=90° (D) k=17 and 0 is arbitrary &
Ok

27. Consider three poi i '
onsider three points P(cosa,sinp), O(sin o, cosB) and R (g, 0), where 0<a, B< T Then
4

(A) P lies on the line segment RQ. (B) Qlies on the ;
(C) R lies on the line segment PQ. ®) P, 0, R are zome s;gment PR.
2 n_c .

3t 7@ foaf 5 28 P(cosa,sin B), Q(sina, cosB) «=g R - 0 Omear. ]

’ Glzmﬂ < T
(A) PR RQ atced ot wfES ! ®) QR pr a,B<413T’-€t.Ff
(C) R0 PO eI aEACREACSIEST (D) P, 0, Rt ;ﬁ"‘t RS w3y |

MG

GETITON
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1 and _1 as its elements. The

mmeu-icis
are skew SY -m@ﬁnxnmmwﬁlﬁﬁﬁﬁﬁo | ﬂllm“ﬂg"‘%“m?ﬁ

0,
n(n—1) B) (n-1)
A —5
) 25(5-[)1’2 (D) 3n(rl—-l)f2

a B v
they are in A.P. Then the rank of the matrix |y o |is
y a P

GRIF 0, B,y . +gx + r=0 (CIEA r3¢ 0) FANPICT T R I AP~ SERSITA (B v

WG9 W= 25
(A) 3 (B) 2
© 0 (D) 1

30, Let fn(x)=tan§(l+secx)(l+se02x) o (1+5e2"x), then

W £, (x)= tang(l +secx)(1+sec2x)... (1 +sec2” x) T, O

A) il =)=
&) fs(lﬁ) ! (B) f4(%]=1

© [1)=1
16 (D) fz(%)=1

31. | ' 5
! The value of the expression 4"rC4 + Zsz"f C; is

J=1
47C4 + isz—jc Wim
a0 ARG

(A) 52(-,.3
© %, | ®) °lc,

i O *'G

G edutipsin Q @B G a3z FeAAHA AAES - EduTips S TSNS Fewa!

B,y are the roots of the cquation x> + gx + =0 (with 7 #0) and

a Y
o
y a f

GETITON
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3. 1f adj B= AP =|0|=1, then adj(Q~1pp1) -
1 adj B=A4,\P=|0{=1 T, O adj(g'pp) T
(A) PQ (B) QAP
(C) PAQ D) PAQ

=] %53 (=]
(=]

33, Let @,b and & be vectors of equal magnitude such that the angle between gand b iso, b and

Z ispand ¢and @ isy. Then the minimum value of coso. + cosp + cOSY 18
QT a,b9R ¢ (ST TR @A (V@ @ ;-3 W3S @ a, be -2 TGS (31 AR

£8 F-2 NI I y | O cosa. + cos P + cosy-3 S Wi 2

i 1
A 5 S
3 s
© 3 23
[=] X5 (=]
=5
| [=]3%
34. [ztf(x)bcascconddcgrcepolynomial.lff(l)=f(-1)and : 4
- P.q,rarein A.P.,then f’(p), '@, f'(r)
(g) in A.P. (B) in G.p.
(C) inH.P. (D) neither in A P
@ T f(x) R wrogE @ T A IR £(1) = £y Q;: S.P. :r :I.P.
£'®). 1@ 1) & 7 APAS U, o
(A) A.P(S IR B) GP®
(C) HP.(S | s

(D) A.P., G.P. i)l H'P___a- (ﬁ
Il Céi |

GETITON
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kK
[=] 5%
axis passing through the intersection of the lines ax + 2by + 3b =0 and

35, The line parallel to the b)= (0,018

bx-za}"3“=0w'1m(a'

‘ 3 from it. (B) above x-axis at 2 distance 3— from it
(A) above £-axis at a distance 5 _ 3

_ ; |
i 3 fromi -axis at a distance — from it.
(C) below x-axis at a distance = from it. (D) below x-axis :

o SR 1T AN FETFLR G ac+ Wy 4 W =06 by - 2ay -3a=0
stz 9fba cefes] BT T (QRIEH (. b) # (0, ), D &

—rrn 3 - PR
(R) x-SCH2 A 3 GFF I (B) x-=rHs B2 3 7% VAT |
© xwTe R 2 @ ) (D) x-ww S5 % % 7Y |

36. A function fis defined by f(x)=2+ (x-1)>* on [0, 2). Which of the following statcments is
incorrect?
(A) fis not derivable in (0, 2).

(B) fis continuous in [0, 2].
©) A0 =f1(2).

(D) Rolle's theorem is applicable on [0, 2].

S(x)=2+(x~1)" ol (0, 2] syears | orE PR 2ewefn W @R He w1
(A) £, (0, 2)( S3%== @isy =1 | B 0, 2]-C% 7S |
© f(O)=£(2) gl

(D) camra SoterafS (0, 2)63 2owmE |

37. ; ; '
The number of reflexive relations on a set A of n clements is equal to
NRYS AFRGIRER G 70 7% 3o 721

. 2
(A) .2"
(C) 27-n g :j i
38. Let f(x) be continuous o 0.5 e
% : 5 . . . . o 1 . _
5 e 10, 5) and diferentiable in (0, 5). I£(0) = 0 and |/ (x),ﬁ-g for all x i
I, f0x) SR [0, 5) gy
(0"5)3‘@13%:;; 31 7w (0, S)WWW!WKO)=UWU‘@}}$%.
T, R (0, 5) et A <03 69 "
- (A) [_f(x)]g] | » )Isl
© Sl o ® [fx)sg

. o |f(x)]=1

G  edutips.in Q GUBA FCTH 932 FEARHN TG - EduTips S SIS F26a!

® Google Play
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M-2025 (13) :e :
g, J““ t
19, P‘?uism([ t,]‘ln’ __ ’( W 1) —
et 1) a2 2
8 0 | S P
fomid ﬁ“‘l .3
(A 0 (B) tan 10- 10

?c"y an 9 -9 (D) ] ?_,f a@
E

- is equal to
a0, 1f cos o+ cos '3 4 cos Vo =3n , then U,(f’:+-f)+f}(y+a)+ f(a+P) ised

i con o cos b cos V=3 73, oA olper)t ﬁ(y*a)-*?(a*'ﬂ)@mﬁ
(B) 1
o (D) 12

(C) 6

i 1 Gudl B \i"\‘"f-'-’ and @:f8 =3, then the arca of the paraliclogram for which a and P are

atdjacent sides 18

o G M _;;‘\;‘;\,;;JE gt i3 on, e (L ARferas AT G Gat B, 2 canes X3
| ®) 14

o i
« ); Jj‘i @ J4
g‘ﬂ "E']
Gl

42, If x = -} and x = 2 are cxireme poinis of f(x)=alogjxi+ fix? + x, (x «0), then

ity a | LR 22, f(x]»ﬂ.log],q vfix? 1 x84 (1 20) venfaw v, s

: |
B) Gs-6, fo -
2

i
Ay e -6 B
‘ W) a<2,pe’
y) 2

1] a=2 ey

GETITON
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45. The straight line *=3 _ y-2

M.2025 (14)

_| 4 1 1|, thenkisequal to

OREHO

=6
43. If ford matrix A 41
1 -2 4
g am adiA= 4 1 1| @I
< s 0 [41° -1k 0
(B) 1 [ 754 )
@A -1 D) 0 FE:??%
© 2 ofty

ase. positive real numbers each distinct from unity, then the value of the determinant
-

\ 1 log,b log,

)]ogba 1 log,c| is

]bgca log.b 1
1 log,b log,

T a,b,c 1375 o 4919 97 ST 2, O [logya 1 log,c| TEORRRIIT-aH R 2
log,a log.b 1

(4) 0 B) 1
(C) log,(abc) (D) log,alog,b log.c

—
—_—— .

_z-1
(A) paralle] to the . axis,

(C) paralle] to the z-axis, (B) parallel to the y-axis.

(D) perpendicular to the z-axis. @%‘j&ﬁ?

23,020 3. i
3 1T TR ol
(©) 25093 e (B) Y-S TG |
! "@mql

& (D) 2w A =T

i« uﬁ;m Ot the firgt f, ur — four ferms

185 first tepp, 511 " fan arithmetic pmgression Bl e s
s U] .
?Tm w2 . - N the Number of terms 18 . o
&, urm

2
o " ST aipie srgey 112 1 3ft ©IF
(A) 10 9 iy ® Qs 56| o1 < BT AT 7
©) 12 W ¥z
(B) 11

edutips.in QB sieerm @32 Fewte roddD) E:lt’}Tips 19 BIGACEAG ! ® Google Play 2
TR m ) ,”'-'--#*




f 4 YA : - vz I b
- VLo (19 [ = = S B T
n/2 . |
47. The value of the integral I log(f_"ﬁﬂg{ d i
0 4+3cosx |
’”2]0 (4+3sinx]dx o l
4 +3cosx AR EE |
) 2 ®
©0 D) -2 Of+{0)
e
[=] e

48. If the sum of the squares of the roots of the equation x* — (2 — 2) X — (a + 1) = 0 is least for an

appropriate value of the variable parameter g, then that value of ‘a’ will be

‘@'~q3 (§ VA NS & 22— (a-2) x-(a+ 1) = 0 FEReibe Jeefer w0efa Qo T T3,

R o~
(A) 3
©) 1 (D) 0

49 If(1+x—2x2)6=1+a,x+a2x2+...+alzxu,ﬂlcnthcva.lucofa2+a4+a6+...+anis

T (1 +x—2x26=1+a1x+a2x2+...+alzx12@vwaz+ﬂ4+aﬁ+...+a12—L‘l'ﬁ‘Iﬁﬂ‘{ﬁ
(A) 21 (B) 31

(C) 32 (D) 64 ?_El%
ik
[=]%

ais

@l T, 3.5, Fo @ o8 A ab=3C=0 WK b 6 77 ey careeq et Tz,
6

oIE a TR

(A) bx¢ (B) &xb

e e an R RGBSR A A .
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\1 EFAURE G AL
Category -2 (Q. 51 to 65) -
(Carry 2 marks each. Onlygone option is correcl. Negative mark: -%2)

' » §3 Sundays or 53 Saturdays i
' e il at a non-leap year selected at random will have -
et e Rdise 991 201 | Bw 53 afaata el 531 #flerata daa

OREHO

wET

s 7Y 9 3 FE MEWISI
TR JERA &
A) L B) 5
@A) - ’72
© 1 D) 365 OF¥{0
LAk
Ot 3
52. 1f |Z,|=|Z,|=|Z;|=1 and Z, +2Z,+2Z,=0, then the arca of the triangle whose vertices arc

Z,,Z,, 2y is

W |Z)|=|Zy|=|Zs] =1 9 R 2,4 2, + 2, =0 WA 2, Z,, 2, THR%RMS Rrguiba cwaes 24

(A) W3 (B) V3
1 4
1 (D) 2
’\ 1 cos@ -1 %—, g'l?
8. Laf (9)=i—sin9 1 —cosf . Eﬁ:,ﬁﬁ
| =1  sin® 1

Suppose A and B are ‘o . .
are respectively maximum and minimum values of F(0). Then (A, B) is cquﬂ‘ to

Ll ) Pl
T _f(e =i_..sme
A b ~cos0| @ 4 @ B 2o TUFW £(0)-2 53y 8 SN Wi | wizge (A, B)

B -1 sme
Ay 2,1
(B) 2.0
(C) ('Jia 1] e"‘ 1
(D) L-:E

G edutipsin Q GG ATSH GaR FeARTN WATEE - EduTips TN GBACEAG weel! ® Google Play
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M-2025 (17)
x-4

54, 1f f(x)= 31“3’mcn F(£(5))) witt be

3x -4
W f(x)=5=3 T (1 (1 (x)))
(A) x B) 2
2x-3
© 3% o 2

x-4
2x-3

(=] X5 (=]
§S. Let f (x) = max {I + ‘XI, A [x]} , Where [x] stands for the greatest integer not [=];

3
greater than x. Then I g (%) dx has the value
' 3
R f(x)= max{x +al x =[x}, s [v) 2 g et 30 S e | 1%L _[ 3 J (%) dx <an
RICES

: 51 21
(A) 5 B) 7
©) 1 (D) 0

56. If a, b, ¢ are in A.P. and if the equations (b-c)x?+(c-a)x+(a-b)=0 and

2(c+a)x? +(b +¢)x =0 have a common root, then

(A) @, b*, c*arein AP. (B) a* ¢ b? are in A P.

(C) ¢, a b*arein A.P. (D) @ b? ¢ are in G.P.

R a, b, ¢ TG AMETS AT 4} (b-c)x2+(c—a)x+(a_b)=0 b 2(C+a)x2+(b+c)x=0
Nz 4P @l FerEd Tg WS, O

(A) @2, b, c* FIea giaifers Sz | (B) @ &, b? yrea 2sfers sz | @jﬁ’@
© & a, bR eoffors uE| (D) &, B, c* wttrem 2fers wmz) &3&

(=] M2

57. Letx -y =0and x +y = 1 be two perpendicular diameters of a circle of radiys R b L
pass through the origin if R is equal to - The circle will

'ﬂﬁx—y:OtﬂH{x+y=IW@memmmmmm ‘ _
(3 T R-47 T » STRCA T &7 fpondh

(A) % (B)

W= &I_

1
(©) ﬁ (D)
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, , B’ where a., p ar¢ the roots of the equation x> — 3x + 2 =0. Then the numbey
x—a|t|x=¥> ,

58. Let f(x)=] . cereptiable is
’ :ch fis not differen
of points in [0, B] at WhiC 4 (B) 0
(A) ;’3 (D) infinite
(o)

o f(x)=]x-of+x~B] =, @I @, B 22 — 3x + 2 = 0 ¥R 46 A | O [at, Bl-a3
SWNWWT’WW‘UWW,WW%‘UT@

@ 2 0 %}E
b (D) SRy e

59. The maximum number of common normals of y?> = 4ax and x> = 4by is equal to

y* = 4ax OR x* = 4by-a7 AR FCFT FLRS LA 7S

(A) 3 (B) 4
© 5 (D) 6

60. Thenumberofcommon tangentstothecircles x2 + y2 —4x—6y—-12=0

: » X2 +y2 +6x+18y +26=0

x2+y? —4x-6y-12=0, x2 +)2 +6x+18y+26=0 TET AR 1151 S 2

(A) 2 (B) 3

(C) 4 D) 5 g }
f';_ji.

61. The number of solution, i
S = . :
of sin~1 x 4 gin~1 (1 - x) =cos~l xis

sin~! x + sin-! (l—x)=cos“1 X~
T TN
@) 0 AUSER: S 6
© 2 (B) 1
(D) 4

GETITON
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2- Let u+v+w = 3, u, v webR hﬂg
] b ] and - — -
V x,y € R. Then f(1) is equal to &) = ux+yx+w be such that f(x + ) fO)+f()+xy,

™ u+v+w =3, u,v,we R @
? L] 9 q: _ =
¥ xy e RS f(1) TW F) = witsveew G @ fix +) = fHOTD

S5
A 5 _
2 2
1 ®) 3
© A (D) 3 E#:E
(1 3n (4]
63. Let a, denote the term independent of x in the expansion of {x + Sm(z/n)] ) [Ei‘
(an)n! *

then l{ﬁ ET N equals

sin(1/n) " (@)
W AL, @, | x+ } —ﬂﬂﬁ@%ﬁx?@{@ﬂm@ﬁﬁhm ﬁ‘*ﬂﬁmﬂﬁ

x'z n—>»mo
(A) 0 (B) !
©) e ) ¢/3
64. If cos(e % ¢.) =_35_ and sin(9—¢) -.;-1-55, 0<6, ¢<%, then cot(20) has the value
i cos(0+) =3 @ sin(0-9) =2, 0<6 <% T, O cot (20)-7 T T
16 63
(A) & (B) T6
3 o) 2
© 13 3
65. 1f f(x) and g(x) are tWO polynomials such that ¢(x) =f (x3)+ xg (x3) is ] #3[a]
divisible by x* + x + 1, then %
[=] e

(A) O(x)is divisible by (x—1)
(B) none of f(x) and g(x) is divisible by (x—1)
(C) gx)is divisible by (x—1) but f(x) is not divisible by (x — 1)
(D) f(x)is divisible by (x — 1) but g(x) is not divisible by (x — 1)
£y 4 g(a) T e, A $(x)= (3)+38(x3), 2 + x + 1 Wit Rroten, Tz
(A) o), (@ - 1D fFerey |
(B) f(x) & g0 FR D a1 e =

© g3, (e~ 1) e o RS (x— 1) w1 Rretey 7

(D) f(x), (x- 1)mﬁ@mﬁ@gm, (x - 1) =t Rere 731

G edutips.i g BEFTTE
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‘3 (Qo 66 tD 75) .
ke ot ! e marks.)
s each. One 0T more options are correct. No nega.tlv arks
- 2.marin4x (p+2) sinx—(p+3)=0has a solution, the p must lie in the interval _
uation si0 X— ——
® :ﬁﬂ:;:-(p+2)sm2x—(p+3)=owmmm WT@? p SR (§ TR THI TR
(B) (-3,-2
-3,-2
((2; EzS;) | (D) (-5, -3]
Eh -

61. €0 <a,b<3and the equation £+443cos(ax+b)=2x has real solutions, then the value of
(a+b)1s

W0 <a b<3 R P+ 4+3cos(ax+b)=2x FREAIHA I TAW 4TS, TR (a+b)-7 5 T2

(A) % (B)
C) n (D) 2w

68. Let f(x)=x°, x € [-1, 1]. Then which of the following are correct?
(A) f’ has a minimum at x = 0. (B) ‘f’ has the maximum at x = 1.
(C) ‘f’ is continuous on [-1, 1]. (D) ’f" is bounded on [-1, 1).
RIIF fx)=x, x e [-1, 1] | O FElRe @ @m Refoaf e
A) x=0FE f R FHIFINARI  (B) x= 1 Rrs f~a3 52w 57 =75
© [-1, 114 f 7= D) 1, 1].a f 3%
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0. The population p(r) at time ¢ of 5 Certain moyse specics follows the differential equa 3
dp(r)
N =0'5p(:)——450-
If p(0) =850, then the time at which the population becomes Zero is
R (P! R 21 2tenfon Heatt ps) o o Rl A T
dp(t
( =05p(r)—-450 E#E
T p(0)= SSON,WWST\W@WRH{@@@ '
[=]
(A) log9 - Eloglg
& Jogls (D) 2log18

i e
71. If P is a non-singular matrix of order 5x5 and the sum of the elements of each row is 1, then th
sum of the elements of each row in P! is

M P 5x5 TR SRS G (non-singular) 2 ¥ 3% &S MFa Seimnalera @owe 128, OrFs
P! (o #Afsfb AfRa Somimelm @iee 2=

(A) 0 B) 1
©) -;- D) 8

72. The solution set of the equation (x € (0 ;D tan(fttan x) =c0t(ncotx) , 18

tan(ntanx)=cot(1tcotx), (-’CE( ) %)] WWWWW@ E.‘-IE
(A) 10) (B) H =y
¢ [=]
© ¢ D) [zt_}
6
73,0 £(x) =" "sin 1 e dr gng 8(x)= [ *cos 1 4 et
sin? x 2, ’ vale 0ff(x)+g(x) 18
W S(x)=[" “sin! Vidr g g(x)= [ Teos1 g "
(A) n @ xR T g
© Z

D) gin2.. .
( ) S1n x+slnx+x

% % . & edutips.in Q BT TS 33 FAIAI9 WTEE - EduTips T TREATATG Heen! ® Google Play
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(B) 1000
(D) 10

28
e

78, Lerf:10,1] > Rand g : [0, 1] - R be defined as follows:

f(x) =1if x is rational ] -
= 0 if x is irrational

g(x) =0 if x is rational
= 1 if x is irrational e

(A) fand g are continuous at the point x =—;— ;

(B) f+g is continuous at the point x = e 2 but fand g are discontinuous at x == |

U.‘I

(C) f(x).g(x)> 0 for some points x ¢ (0, 1).
(D) f+g is not differentiable at the point x = 3

. ] 2 . l 1 \ o
f(‘t) :’ E

=(), 94 X Y3y | R

P
g(x) = 0,4 xFW ] %"‘-t‘q
_ , T o B
=1, 94 xSEm | ° N O >

(A) 8¢ x-—ﬁmml

(B) f+g Storaafd x--—ﬁwuq%
(©) f(x).g(x 1 apl x“gﬁm
)-8(x)>0, x e (0, 1)@%%‘ I

(D) f+g Stowafs =§_ﬁm
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